Learning Objective: to be able to round decimals

Do it!
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Use it!
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Own it!
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4a. Fill in the number line with the missing

whole number and the decimals which
round up foit.

4 41 42 43 44 A 46 B C 49 D

7a. Do the decimals round up or down?
Which whole number do they round to?
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sa. Fillin the gaps using these decimals
and whole numbers.
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4b. Trey used number cards fo make
three decimals, but then his cards got
mixed up!
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He remembers that his decimals rounded
to5 6and1.

What could the three decimals Trey made.
be?

e

5b. Two helicopters are different lengths.
The lengths both round fo 4m.

There is a difference of
0.9m between the actual
lengths of the two buses.

Is what the mechanic says possible?
Explain your answer.

vy

éb. Joanne is thinking of a decimal.

My decimai rounds )
down fo 8. It does not
contain the number 2.
The number of fenths
in my decimal is
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12a. Fillin the gaps using these decimals.
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7b. Aimee used number cards to make
three decimals, but then her cards got
mixed up!

o))

She remembers that her decimals
roundedto 4,8 and 2.
What could the three decir
made be?

151

8b. Two frains are different lengths. The
lengths both round fo 10m.

als Aimee

There s a difference of 7
fenths of a metre
between the actual
lengths of the two.

Is what the mechanic says possible?
Explain your answer.

/ My decimal rounds up
fo 5. Itis greater than
45 tenths. The digits in

the ones and the
fenth: columns are
even and add up fo
make 12.

What is the decimal Mabel is thinking of?
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22 Which of theze decimal:
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2a. Fillin the number line with the missing

whole number and the decimal which
rounds up fo it.

1314 15 16 17 A 19 B

3a. Do the decimals round up or down?
Which whole number do they round fo?

3.8 37 33

3 3132 33 34 35 36 37 38 39 4

4a. Fillin the gaps u
and whole numbers.

7.2 38 4 7

rounds up fo

rounds down fo
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1b. Ella used number cards fo make two.
decimals, but then her number cards got
mixed up!

auan

She remembers that her decimals
rounded fo 3and 7.
What were the two decimals Ella made?

¢

2b. Two motorbikes are different lengths.
The lengths both round down to 2m.

There is a difference of
0.2m between the actual
lengths of the two bikes.

Is what the mechanic says po:
Explain your answer.

g

inking of a decimal.

_ My decimal rounds
uptos.

My decimal has

the number 8 in it.





